4-193-522-01 (1)

SONY.

Projection Lens Adapter

JO9x09aVVIRTITI—

HUREHEAE
Operating Instructions
Mode d’emploi
Bedienungsanleitung

Manual de instrucciones
Istruzioni per l'uso

Ed R R

BEVEFVREESDHESTEVET,

TEDCHDERRIEZTSEE,

S H| AP AFEHICHEDIENDDFT,
COFRAEICIE, B THDERFIRFRERMOMOTNNcZRU
THHET, COHPBERLKBRFDIX. HBZZ2(CHHEVLEEL. S
FHTIEofedpLlF. WO THREENDEIAICHITREL TIEEL),

PK-F30LA1
PK-F500LA1/F500LA2

Sony Corporation © 2010 Printed in China

FLBBDBBLEDE . BORMHEELEE
R—LNR—=I72ERALIEE L,

fELVSHEEERO

http://www.sony.co.jp/support

KBS NEGRE.
RIDHA 5V Zh
MNTVBREIC
[999]+T#]
ZERULTLEE,
B, BHEON
BOFEFLET,

---0120-333-020
-+ 0466-31-2511

EIEEEO

JU—F1 T 0120-222-330

H#5#HE85E - PHS - —#DIPESE - - 0466-31-2531

HERRBIEEE U E IV SOBMARE 5 HNBELADE 2E
FAX (58 0120-333-389

VZ—#4Hatt T108-0075 RREEXER1-7-1

http://www.sony.net/

REDHIC

VI —RRERRICRDICEB U TR ESNTWVET, L L. EBA D
FeBWD 2T 2 KPP ABERICDEDD T ENSDD. BRTT,
EHZR TeDICRD EZMNTBTD LTEELN,

o ZEDCHDEIREIRZTD.

e HEUESEDTIC, BEVEFEXIFY Z—OEREOICAERT

2o

ELRTORHK A =a

COEUREGBAES LUHRTIE. RO | _ o e

EIHERELTVET. ERONS L@i@ﬂ?@&,ﬁ%@%ﬂ'bﬁut‘\ K

E&<ERLTH S5ANESTH . | KORBE IR DR PAIDES

=, ASEHIOENB T EDBOFT,
EBZERETES TRERETIT RS TRERILTIRS
P BE 255&3Y il =31

EVhhBIR<
BEEN

VAP I FTI—B ROV XDOEDFFICDNT
PBERICEDLU VAT I TI—BLUL Y DD T IE, NP AG
BHICDHENDZEDBDET, LY AP I TI—BROL Y XDED
RFICDNTIE. BBUVLIFEFCGY Z—OERBOCSHEL T
L

PB—EADAN
DTOFBFT—EXZHTT, X2 tDFBZERISBHRHFDIA. &
BEPRT. iR BEEEZELZE(CToTIEEL,

proeyT TEEDFEEZETHIFNE.
WSPERE(<0. FECAKIFHHC rshis = himD
ENCIS

N RE

REICTER=
GE; o BRIROBEFREDRRNGZDTEERE TSI #ENTLE
=,
SO, o NEICEEBEDBANGD . BERICENTIERBOBRNS
DFITDTHRAICTEELE,

LY XDED I DIehHIC, BN Ufe/\—RAPREB LIS 52—
BEF, TOERFETIE HABRPSEEBRD LU EEDEE
[CHNDBRNDDEITDT. MFTTESDIT/\—RRZSIEG L.
ISVIN—CTRESBDICAELTLZE L,

o EBEROE D {FF PERDSIZELIFTESDIC

ity

Y—ERRRBREARE
0 P—ERADEHICIDFTF LRI, B, BRNTESDICED
TV & FEEYPA DTN EZER LTIV, &
F—EAUICEFRDOBIDBRBIURMDIEGELTLE o fes
DHEVDIEEZRIRLTLIES L,
o BB RBEMHIEHICEBBEBRISIDIERT T v I%Z17T0
Tl EEL,
ERF 1 v IDFE
BRIVEY M SERISIZRE. BRAANYFZEANKT,
500VigiEETEt Z BV CER T S J DZNZNOIRTF LS BE LS
EEREDET. #EFEMENTMAMU ETHD L. CDEUTOE
ElFY FORREERSNETT,

iy

LY XZDEDEL
BEHICTOI T II—DL Y X7ZEDZL EBVKHEICAD. B
[CBFEZSRDTENDDET,

LY RZMFIEVRREET, REPICTOI 5 —ZDT L LRV
HOBICAD. BICBFEZSADENBDHET,

LY ZOMDHIFEICEREHEHEFT S
UV XDEDHIFEEF. (EERICBEVWTITL. RDDRETIF T

31

® LYZXFP T I—DH%EEEBULTERLEEL
=31

0 DREVWTLIEEW,. ITHDREREFEDET,

¢ COUVYATPHITHI—G. VZ—TJOI T IF—FADLYXF7 I T
5—TY,

e JOY I UY—DHIRSHIABRZ CBICIED. COUVY AT ITEI—H
FERATEDNEDINZM TR L TLIET L,

o UVATHTI—DED I cICOVWTH, TOY T I7F—DHIR
HAEZE CELEEL,

LY XZRDH}IDEDTER

e MDEFFUIEL VY XFICIFIDNITD LV XZEBEL £EF. LohD
UTekFEaDEICEMNIEICLTBLWTLZEWL. LY XHEIFED
EPTVDTERORVICEFTDEFRE LTS,

o UV XEICIFFEMNIFNKDICLTLZEL,

[EtRGm

e PK-F30LA1
@A), B@B(1). MWH@C(1). XIDM2 X 6 (6).
RIETYEVRIE2 X 6(2)

e PK-F500LA1
LYXFPFTZ—(1). KIPSW M4 X 12 (4). EHT— (1)

e PK-F500LA2
LYX7ETE—(1). ZIPSWM3 X 10 (4)

BEWVICIEDRIC, HFBMEESRZIT O TIEEW. MEZDMICH
S EE FORSBRF FIFRAPBHIS LOFRHERER CODD S
g ABEVEUDRETD TS TAELES,.

® This lens adapter is designed for use with the Sony Projector.

® Make sure to confirm that this lens adapter is usable with your projector
before using it by reading the Operating Instructions supplied with your
projector.

® Read the Operating Instructions supplied with your projector for
attaching the lens adapter.

About lens adapter and lens attachment

Attaching the lens adapter and lens may cause fire or injury to the person.
Users should request qualified Sony representative to attach the lens adapter
and lens.

Notes on lens attachment

® Lenses can be scratched easily. When handling lenses, always place them
gently on a stable, level surface in a horizontal position.
® Avoid touching the lens surface.

Included items

o PK-F30LA1
Part A (1), Part B (1), Part C (1), Screw D M2 x 6 (6),
Screw E Tapping screw Type 2 2 X 6 (2)
¢ PK-F500LA1
Lens adapter (1), Screw PSW M4 x 12 (4), Shade sheet (1)
® PK-F500LA2
Lens adapter (1), Screw PSW M3 x 10 (4)

Note

Always verify that the unit is operating properly before use. SONY WILL
NOT BE LIABLE FOR DAMAGES OF ANY KIND INCLUDING, BUT
NOT LIMITED TO, COMPENSATION OR REIMBURSEMENT ON
ACCOUNT OF THE LOSS OF PRESENT OR PROSPECTIVE PROFITS
DUE TO FAILURE OF THIS UNIT, EITHER DURING THE
WARRANTY PERIOD OR AFTER EXPIRATION OF THE
WARRANTY, OR FOR ANY OTHER REASON WHATSOEVER.

® Cet adaptateur dobjectif est congu pour étre utilisé avec le projecteur
Sony.

® Vérifiez dans le mode demploi fourni avec votre projecteur que cet
adaptateur dobjectif convient a votre projecteur avant de l'utiliser.

® Lisez le mode demploi fourni avec votre projecteur concernant le montage
de l'adaptateur dobjectif.

A propos du montage de I'adaptateur d’'objectif et
de l'objectif

Le montage de l'adaptateur dobjectif et de Tobjectif comporte un risque
d’incendie ou de blessure aux personnes.

Lutilisateur doit demander au représentant Sony qualifié¢ de monter
ladaptateur dobjectif et lobjectif.

Remarques sur le montage de l'objectif

® Les objectifs se griffent aisément. Lors de la manipulation des objectifs,
placez-les toujours sur une surface stable de niveau en position
horizontale.

® Evitez de toucher la surface de lobjectif.

Articles inclus

® PK-F30LA1

Piéce A (1), piece B (1), piece C (1), vis D M2 x 6 (6),

vis E vis autotaraudeuse type 2 2 x 6 (2)
® PK-F500LA1

Adaptateur dobjectif (1), vis PSW M4 x 12 (4), feuillet pare-soleil (1)
® PK-F500LA2

Adaptateur dobjectif (1), vis PSW M3 x 10 (4)

Remarque

Vérifiez toujours que l'appareil fonctionne correctement avant
l'utilisation. Sony n'assumera pas de responsabilité pour les dommages de
quelque sorte qu'ils soient, incluant mais ne se limitant pas a la
compensation ou au remboursement, a cause de la perte de profits
actuels ou futurs suite a la défaillance de cet appareil, que ce soit pendant
la période de garantie ou aprés son expiration, ou pour toute autre raison
quelle qu'elle soit.




® Dieser Objektivadapter ist fiir Projektoren von Sony konzipiert.

® Uberpriifen Sie anhand der mit dem jeweiligen Projektor gelieferten
Bedienungsanleitung, ob dieser Objektivadapter fiir den Projektor
geeignet ist, bevor Sie ihn verwenden.

® Informationen zum Austauschen des Objektivadapters finden Sie in der
mit dem Projektor gelieferten Bedienungsanleitung.

Anbring_;en des Objektivadapters und des Objektivs

Beim Anbringen des Objektivadapters und des Objektivs besteht Feuer-
oder Verletzungsgefahr.

Zum Anbringen des Objektivadapters und Objektivs sollten sich Benutzer
unbedingt an qualifiziertes Sony-Personal wenden.

Hinweise zum Anbringen des Objektivs

® Objektive zerkratzen leicht. Achten Sie beim Umgang mit Objektiven
immer darauf, sie vorsichtig horizontal auf eine stabile, ebene Oberfliche
zu legen.

® Berithren Sie die Objektivoberfliche nicht.

Mitgeliefertes Zubehor

o PK-F30LA1

Teil A (1), Teil B (1), Teil C (1), Schraube D M2 x 6 (6),

Schraube E Blechschraube Typ 2 2 x 6 (2)
® PK-F500LA1

Objektivadapter (1), Schraube PSW M4 x 12 (4), Lichtschutzfolie (1)
® PK-F500LA2

Objektivadapter (1), Schraube PSW M3 x 10 (4)

Hinweis

Bestitigen Sie vor dem Gebrauch immer, dass das Gerit richtig arbeitet.
SONY KANN KEINE HAFTUNG FUR SCHADEN JEDER ART,
EINSCHLIESSLICH ABER NICHT BEGRENZT AUF
KOMPENSATION ODER ERSTATTUNG, AUFGRUND VON
VERLUST VON AKTUELLEN ODER ERWARTETEN PROFITEN
DURCH FEHLFUNKTION DIESES GERATS ODER AUS JEGLICHEM
ANDEREN GRUND, ENTWEDER WAHREND DER
GARANTIEFRIST ODER NACH ABLAUF DER GARANTIEFRIST,
UBERNEHMEN.

® Este adaptador de objetivo se ha disefiado para utilizarlo con el proyector
de Sony.

® Antes de utilizar el adaptador de objetivo, consulte el manual de
instrucciones para proveedores incluido con el proyector para asegurarse
de que dicho adaptador es compatible con el proyector.

® Para instalar el adaptador de objetivo, consulte el manual de instrucciones
para proveedores incluido con el proyector.

Acerca de la instalacion del adaptador de objetivo y
del objetivo

Si el adaptador de objetivo y el objetivo los instala personal no
especializado, pueden producirse incendios o dafios personales.

Los usuarios deben solicitar los servicios de un técnico Sony especializado
para instalar el adaptador de objetivo y el objetivo.

Notas sobre la instalacion del objetivo

® Los objetivos se arafian con facilidad. Cuando los maneje, coloquelos
siempre con suavidad sobre una superficie estable y nivelada en posicién
horizontal.

® Evite tocar la superficie de los objetivos.

Accesorios suministrados

o PK-F30LA1

Pieza A (1), Pieza B (1), Pieza C (1), Tornillo D M2 x 6 (6),

Tornillo E Tornillo de rosca cortante tipo 2 2 x 6 (2)
® PK-F500LA1

Adaptador de objetivo (1), Tornillo PSW M4 x 12 (4), Lamina parasol (1)
® PK-F500LA2

Adaptador de objetivo (1), Tornillo PSW M3 x 10 (4)

Nota

Verifique siempre que esta unidad funciona correctamente antes de
utilizarlo. SONY NO SE HACE RESPONSIBLE POR DANOS DE
NINGUN TIPO, INCLUYENDO PERO NO LIMITADO A LA
COMPENSACION O PAGO POR LA PERDIDA DE GANANCIAS
PRESENTES O FUTURAS DEBIDO AL FALLO DE ESTA UNIDAD, YA
SEA DURANTE LA VIGENCIA DE LA GARANTIA O DESPUES DEL
VENCIMIENTO DE LA GARANTIA NI POR CUALQUIER OTRA
RAZON.

o 1] presente adattatore dellobiettivo & stato progettato per I'uso con un
proiettore Sony.

® Per accertarsi che I'adattatore dellobiettivo possa essere utilizzato con il
proiettore in uso, consultare le istruzioni per 'uso in dotazione con il
proiettore acquistato.

® Per l'applicazione dell'adattatore dellobiettivo, leggere le istruzioni per
T'uso in dotazione con il proiettore acquistato.

Informazioni sul collegamento dell’adattatore
dell'obiettivo e dell’'obiettivo.

Lapplicazione dell'adattatore dellobiettivo e dellobiettivo pud causare
incendi o lesioni alle persone.

Gli utilizzatori devono chiedere a personale qualificato Sony di applicare
ladattatore dellobiettivo e lobiettivo.

Note sul collegamento dell’obiettivo

® Gli obiettivi si graffiano facilmente. Nel maneggiare gli obiettivi,
assicurarsi sempre di installarli delicatamente su una superficie stabile e
uniforme, in posizione orizzontale.

® Evitare di toccare la superficie dellobiettivo.

Accessori in dotazione

o PK-F30LA1
Componente A (1), componente B (1), componente C (1),
vite D M2 x 6 (6), vite E vite filettante tipo 2 2 X 6 (2)
o PK-F500LA1
Adattatore dellobiettivo (1), vite PSW M4 x 12 (4), pellicola antiriflesso
(1)
® PK-F500LA2
Adattatore dellobiettivo (1), vite PSW M3 x 10 (4)

Nota

Verificare sempre che I'apparecchio stia funzionando correttamente
prima di usarlo. LA SONY NON SARA RESPONSABILE DI DANNI DI
QUALSIASI TIPO, COMPRESI, MA SENZA LIMITAZIONE A,
RISARCIMENTI O RIMBORSI A CAUSA DELLA PERDITA DI
PROFITTI ATTUALI O PREVISTI DOVUTA A GUASTI DI QUESTO
APPARECCHIO, SIA DURANTE IL PERIODO DI VALIDITA DELLA
GARANZIA SIA DOPO LA SCADENZA DELLA GARANZIA, O PER
QUALUNQUE ALTRA RAGIONE.

ez |
FEmBR: RFRLER R

R T P ARG B 5, 3608 3
AR AL Sony ML

o ]2 1 5 A B U AT R0 15, DA A2 B
FZEE R T L.

o IR TR VT2 DL L 0 R0

AT HRAEMERMRIM L%

LB AR Bk AT AE S L KK SRR A B 5 -
FH P B BERR I Sony {RERZZHEBILIERLERRI Bk
LB ERER

S BURE DN, BRI, FFEHRE AT KA,
B B R .

AR

KTHE, EEFIRSEALIHIEH A
Fra¥m

o PK-F30LA1

A ERSr (1) , B Ehsr (1) , C #hsr (1) , 822 D M2 X
6 (6) , 222 E IR K8 2 2 X 6 (2)
®PK-F500LA1

BESGERCEE (1) , WEZZ PSW M4 X 12 (4) |, EEXRHF (1)
©PK-F500LA2

BiSkiEmees (1) , 1222 PSW M3 X 10 (4)

xR

T ATB AR ATIAAN LT TIER
ZIERIEBRIHEFEEH, SONY SHEMBIAHER R
BT ANSFEEMRNRE R TAAFARKL, ~ME (B1EE
ABRTF) IBRETEIE(E

({XPR PK-F500LA1/F500LA2)
FRPESEEYRATENBMREE

ID)

PR AA T«
SRR T ERATRI ) TSR
HHHFEWREITR

ISR | 8 | R | B | SN | BIREEE |2 T IER
(Pb) | (Hg) | (Cd) |(Cr (VI))| (PBB) (PBDE)

SHEEHR | x | O 1 O ©) ©) ©)
hh7E x| OO ©) ©) ©)
MEm | X | O | O ©) ©) ©)

O: FRiZEFHFEEY GBI ATE ¥ FA R i & B 7
SJ/T11363-2006 HRifEREHIREESRPATR .

X FNZEHEEVRELEGREE MR & E
HH SJ/T11363-2006 FrifEil i AR E TR

H13% & Fr FoF (%E/& /%) (i) E=& (kg)
PK-F30LAL| A 5% #] 48.7X88.4%90.2 #] 0.02
B 5y %) 45.0X87.4X177.2 2 0.02

C &5y #] 88.0X69.6x61.1 2] 0.1
PK-F500LA1 27 152.5X129.7%88.5 25 0.3
PK-F500LA2 27 152.5X129.7%91.0 25 0.3

HlER . BRI UYSERAE
Hubk: EWTWIHARTXIIDEg 3777 5
HAREER: 2010 £ 4 H



